

APPROXIMATION OF INVOLUTION IN NEW FUZZY C^* -ALGEBRAS: FIXED POINT TECHNIQUE

PARVANEH LO'LO'*, EHSAN MOVAHEDNIA** AND MANUEL DE LA SEN***

*Department of Mathematics, Behbahan Khatam Alanbia University of Technology, Iran
E-mail: lol@bkatu.ac.ir

**Department of Mathematics, Behbahan Khatam Alanbia University of Technology, Iran
E-mail: movahednia@bkatu.ac.ir
(Corresponding author)

***Institute of Research and Development of Processes, University of Basque Country,
Campus of Leioa (Bizkaia), Aptdo, 644 Bilbao, Bilbao, 48080, Spain
E-mail: manuel.delasen@ehu.es

Abstract. The ultimate goal of this paper is to investigate the approximation of involution in fuzzy C^* - algebra. If A is fuzzy Banach algebra and f is function which defined on it, we prove that under conditions A has unique involution. In this case, fuzzy Banach algebra A can be evolve to Fuzzy C^* - algebra. For this purpose, we use the Hyers-Ulam-Rassias stability method and the fixed point technique.

Key Words and Phrases: Stability functional equation, fuzzy normed algebra, fixed point theory, C^* -algebra, Hyers-Ulam-Rassias stability.

2020 Mathematics Subject Classification: 46S40, 39B8, 47H10.

1. INTRODUCTION

The subject of stability has many applications in various fields such as mathematics, engineering and economics. This issue has been addressed in mathematics in several ways. S. M. Ulam [20] suggested a problem of stability in his own lecture in 1940. He posed, "Suppose that a function satisfies in a functional equation approximately according to some convention. Is it then possible to detect near this function a function satisfying the equation accurately?" Next, Ulam brought up a problem of stability on group homomorphisms in metric groups. D. H. Hyers is the first mathematician who answered the question of Ulam in 1941. He demonstrated the following theorem in [8].

Theorem 1.1. [8] *Let X and Y be two Banach spaces and $f : X \rightarrow Y$ be a function so that*

$$\|f(x+y) - f(x) - f(y)\| \leq \delta$$

for some $\delta > 0$ and for every $x, y \in X$. Then the limit

$$A(x) = \lim_{n \rightarrow \infty} \frac{f(2^n)x}{2^n}$$

exists for each x in X , moreover $A(x)$ is a linear transformation, and the inequality

$$\|f(x) - A(x)\| \leq \delta$$

is true for every $x \in X$, furthermore $A(x)$ is the only linear transformation satisfying this inequality.

So far, many mathematicians have developed the Hyers theorem. By changing the control function, space, functional equation, etc., new theorems arise that need to be proven [19]-[17].

Fuzzy norm on vector space was defined in 1984 by Katsaras. Using it, a fuzzy vector topological structure on the space was constructed [10]. Later, some mathematicians from different perspectives defined fuzzy norms in a linear space [6]-[22]. Bag and Samanta [2], following Cheng and Mordeson [4], proposed the idea of a fuzzy norm in such a way that the corresponding fuzzy metric was of the Kramosil and Michalek type [11]. They also prove the theorem of the fuzzy norm decomposition in a family of crisp norms and examined some properties of fuzzy norm spaces.

Recently, considerable attention has been paid to the problem of fuzzy stability of functional equations. Several fuzzy stability results have been investigated in relation to the Cauchy, Jensen, quadratic and cubic functional equations. [14]-[13].

In this research work, we prove that for a function which is approximately Cauchy Jensen in fuzzy Banach \star -algebra, there is a **unique involution** near it. Next, we show that under what conditions the involution will be continuous, the fuzzy \star -algebra becomes fuzzy C^* -algebra and the fuzzy Banach \star -algebra will be self-adjoint.

Definition 1.1. [2] Let X be a real vector space. A function $N : X \times \mathbb{R} \rightarrow [0, 1]$ is called a fuzzy norm on X if for all $x, y \in X$ and all $s, t \in \mathbb{R}$

- (N_1) $N(x, t) = 0$, for all $t \leq 0$;
- (N_2) $x = 0$ if and only if $N(x, t) = 1$ for all $t > 0$;
- (N_3) $N(cx, t) = N(x, \frac{t}{|c|})$ if $c \neq 0$;
- (N_4) $N(x + y, s + t) \geq \min\{N(x, s), N(y, t)\}$;
- (N_5) $N(x, \cdot)$ is a non-decreasing function on \mathbb{R} and $\lim_{t \rightarrow \infty} N(x, t) = 1$;
- (N_6) For $x \neq 0$, $N(x, \cdot)$ is continuous on \mathbb{R} .

The pair (X, N) is called a fuzzy normed vector space.

Definition 1.2. Let (X, N) be a fuzzy normed vector space.

- (1) A sequence $\{x_n\}$ in X is said to be convergent if there exists an $x \in X$ such that $\lim_{n \rightarrow \infty} N(x_n - x, t) = 1, \forall t > 0$. In this case, x is called the limit of the sequence $\{x_n\}$ and we denote it by $N - \lim_{n \rightarrow \infty} x_n = x$.
- (2) A sequence $\{x_n\}$ in X is called Cauchy if for each $\epsilon > 0$ and each $t > 0$ there exists an $n_0 \in \mathbb{N}$ such that for all $n \geq n_0$ and all $p > 0$, we have $N(x_{n+p} - x_n, t) > 1 - \epsilon$.

It is known that every convergent sequence in fuzzy normed space is Cauchy. If each Cauchy sequence is convergent, then the fuzzy norm is said to be complete and the fuzzy normed space is called a fuzzy Banach space. We say that a mapping $f : X \rightarrow Y$ between fuzzy normed vector spaces X and Y is continuous at a point $x_0 \in X$ if for each sequence $\{x_n\}$ converging to x_0 in X , then the sequence $\{f(x_n)\}$ converges to $f(x_0)$. If $f : X \rightarrow Y$ is continuous at each $x_0 \in X$, then $f : X \rightarrow Y$ is said to be continuous on X .

Definition 1.3. [18] Let A be an algebra and (A, N) a fuzzy normed space. The fuzzy normed algebra (A, N) is called a fuzzy normed algebra if

$$N(aa', st) \geq N(a, s).N(a', t) \quad \forall a, a' \in A, \quad s, t \in \mathbb{R}^+$$

Complete fuzzy normed algebra is called a fuzzy Banach algebra.

If (A, N) be a fuzzy Banach algebra and $\{a_n\}, \{b_n\}$ be convergent sequences in (A, N) such that $N - \lim_{n \rightarrow \infty} a_n = a$ and $N - \lim_{n \rightarrow \infty} b_n = b$. Then

$$\begin{aligned} N(a_nb_n - ab, 2t) &\geq \min\{N((a_n - a)b_n, t), N(a(b_n - b), t)\} \\ &\geq \min\{N(a_n - a, t), N(b_n - b, t)\} \end{aligned}$$

for all $t > 0$. Therefore $N - \lim_{n \rightarrow \infty} a_nb_n = ab$

Let A be a an algebra over \mathbb{C} . An involution on A is a mapping

$$\begin{aligned} \star : A &\rightarrow A \\ a &\longmapsto a^\star \end{aligned}$$

such that

- (i) $(\alpha a + \beta b)^\star = \bar{\alpha}a^\star + \bar{\beta}b^\star \quad \forall a, b \in A, \quad \forall \alpha, \beta \in \mathbb{C}$
- (ii) $(ab)^\star = b^\star a^\star \quad \forall a, b \in A$
- (iii) $a^{\star\star} = a \quad \forall a \in A$

1. A complex algebra with an involution is a \star -algebra.
2. A C^\star -algebras is a (non-zero) Banach algebra with an involution, such that

$$\|a^\star a\| = \|a\|^2.$$

Definition 1.4. Let A be an \star -algebra and (A, N) a fuzzy normed algebra. The fuzzy normed algebra (A, N) is called a fuzzy normed \star -algebra if

$$N(a^\star, t) = N(a, t) \quad \forall a, a' \in A, \quad \forall s, t \in \mathbb{R}^+$$

A complete fuzzy normed \star -algebra is called a fuzzy Banach \star -algebra.

Definition 1.5. Let (A, N) be an fuzzy Banach \star -algebra. The (A, N) is a called a fuzzy C^\star -algebra if

$$N(a^\star a, st) = N(a^\star, s)N(a, t) \quad \forall a \in A, \quad \forall s, t \in \mathbb{R}^+$$

Definition 1.6. Let X be a set. A function $d : X^2 \rightarrow [0, \infty]$ is a called a generalized metric on X if and only if d satisfies:

- (M₁) $d(x, y) = 0$ if and only if $x = y$;
- (M₂) $d(x, y) = d(y, x)$, for all $x, y \in X$;
- (M₃) $d(x, z) \leq d(x, y) + d(y, z)$ for all $x, y, z \in X$.

We now introduce one of the fundamental results of the fixed point theory.

Theorem 1.2. ([3, 5]) *Let (X, d) be a generalized complete metric space. Assume that $G : X \rightarrow X$ is a strictly contractive operator with the Lipschitz constant $L < 1$. If there exists a non-negative integer n_0 such that $d(G^{n_0+1}x, G^{n_0}x) < \infty$ for some $x \in X$, then the following statements are correct:*

- (i) *The sequence $\{G^n x\}$ converges to a fixed point x_0 of G ;*
- (ii) *x_0 is the unique fixed point of G in $Y = \{y \in X \mid d(G^{n_0}x, y) < \infty\}$;*
- (iii) *If $y \in Y$, then*

$$d(y, x_0) \leq \frac{1}{1-L}d(Gy, y).$$

In this article we assume that n_0 is natural number. We also assume that

$$\mathbb{T}^1 = \{z \in \mathbb{C} : |z| = 1\} \text{ and } \mathbb{T}^1_{\frac{1}{m_0}} := \left\{ e^{i\theta}; 0 \leq \theta \leq \frac{2\pi}{m_0} \right\}.$$

Moreover, we suppose that (A, N) is fuzzy Banach algebra. For a given mapping $f : A \rightarrow A$, we define

$$D_{\lambda\gamma}f(a, b) = \bar{\lambda}f\left(\frac{a + \gamma b}{2}\right) + \bar{\lambda}f\left(\frac{a - \gamma b}{2}\right) - f(\lambda a) \quad \forall a, b \in A \quad \text{and} \quad \forall \lambda, \gamma \in \mathbb{C} \quad (1.1)$$

2. MAIN RESULTS

Theorem 2.1. *Let $\psi : A^2 \rightarrow [0, \infty)$ be a function such that there exists an $L < \frac{1}{2}$ with $\psi(a, b) \leq \frac{L}{2}\psi(2a, 2b)$ for all $a, b \in A$. In addition, suppose that $f : A \rightarrow A$ be a mapping satisfying*

$$N(D_{\lambda\gamma}f(a, b), t) \geq \frac{t}{t + \psi(a, b)}, \quad (2.1)$$

$$N(f(ab) - f(b)f(a), t) \geq \frac{t}{t + \psi(a, b)}, \quad (2.2)$$

$$N - \lim_{k \rightarrow \infty} 2^k f(2^{-k}(N - \lim_{k \rightarrow \infty} 2^k f(2^{-k}a))) = a, \quad (2.3)$$

for all $a, b \in A$, all $t > 0$ and all $\lambda, \gamma \in \mathbb{T}^1_{\frac{1}{m_0}}$. Then there exists a unique involution $H : A \rightarrow A$ such that

$$H(a) := N - \lim_{k \rightarrow \infty} 2^k f\left(\frac{a}{2^k}\right)$$

and

$$N(f(a) - H(a), t) \geq \frac{(1-L)t}{(1-L)t + \psi(a, 0)} \quad \forall a \in A \quad \forall t > 0. \quad (2.4)$$

Also, if

$$N([N(f(a), t) - N(a, t)]a, t) \geq \frac{t}{t + \psi(a, 0)}. \quad \forall a \in A, \quad \forall t > 0, \quad (2.5)$$

then (A, N) is a fuzzy Banach $*$ -algebra.

Moreover, if for all $s, t > 0$,

$$N([N(f(a)a, st) - N(f(a), s)N(a, t)]a, t) \geq \frac{t}{t + \psi(a, 0)} \quad \forall a \in A, \quad (2.6)$$

then (A, N) is a fuzzy C*-algebra with involution $X^* = H(a)$ for all $a \in A$.

Proof. Putting $\lambda = 1$ and $b = 0$ in (2.1), we get

$$N\left(2f\left(\frac{a}{2}\right) - f(a), t\right) \geq \frac{t}{t + \psi(a, 0)} \tag{2.7}$$

Consider the set $S := \{g : A \rightarrow A\}$ and introduce the generalized metric on S

$$d(g, h) = \inf\{\delta \in \mathbb{R}^+ : N(g(a) - h(a), \delta t) \geq \frac{t}{t + \psi(a, 0)}, \forall a \in A, \forall t > 0\},$$

where, as usual, $\inf \phi = +\infty$. It is easy to show that (S, d) is complete (see [12]). Now we define mappings $J : S \rightarrow S$ by

$$Jg(a) := 2g\left(\frac{a}{2}\right) \quad \forall a \in A$$

Let $g, h \in S$ be given such that $d(g, h) \neq +\infty$. Then for some $\epsilon > 0$

$$N(g(a) - h(a), \epsilon t) \geq \frac{t}{t + \psi(a, 0)} \quad \forall a \in A, \forall t > 0$$

Therefore

$$\begin{aligned} N(Jg(a) - Jh(a), L\epsilon t) &= N\left(2g\left(\frac{a}{2}\right) - 2h\left(\frac{a}{2}\right), L\epsilon t\right) = N\left(g\left(\frac{a}{2}\right) - h\left(\frac{a}{2}\right), \frac{L}{2}\epsilon t\right) \\ &\geq \frac{\frac{L\epsilon t}{2}}{\frac{L\epsilon t}{2} + \psi\left(\frac{a}{2}, 0\right)} \geq \frac{\frac{L\epsilon t}{2}}{\frac{L\epsilon t}{2} + \frac{L}{2}\psi(a, 0)} = \frac{t}{t + \psi(a, 0)} \end{aligned}$$

for all $a \in A$ and all $t > 0$. Therefore, using the definition of d metric, we can conclude that $d(Jg, Jh) \leq L\epsilon$. This means that

$$d(Jg, Jh) \leq Ld(g, h) \quad \forall g, h \in S$$

It follows from (2.7) that $d(f, Jf) \leq 1$. Now, It follows from Theorem 1.2 (i) that there exists a function $H : A \rightarrow A$ which is a fixed point of J i.e.,

$$H\left(\frac{a}{2}\right) = \frac{1}{2}H(a),$$

such that $\lim_{n \rightarrow \infty} d(J^n f, H) = 0$. Therefore, it can be concluded that

$$N - \lim_{n \rightarrow \infty} 2^n f\left(\frac{a}{2^n}\right) = H(a) \quad \forall a \in A$$

Since the integer n_0 of theorem 1.2(ii) is 0, then $H \in X^*$, where:

$$X^* = \{g \in S : d(f, g) < \infty\}.$$

By Theorem 1.2(iii) and $d(f, Jf) \leq 1$ we obtain

$$d(f, H) \leq \frac{1}{1 - L}d(f, Jf) \leq \frac{1}{1 - L},$$

i.e, the inequality (2.4) is true for all $a \in A$.

Suppose $\lambda = \gamma = 1$ in (2.1), then for all $a, b \in A$ and $t > 0$, we have

$$N\left(2^k f\left(\frac{a+b}{2^{k+1}}\right) + 2^k f\left(\frac{a-b}{2^{k+1}}\right) - 2^k f\left(\frac{a}{2^k}\right), 2^k t\right) \geq \frac{t}{t + \psi\left(\frac{a}{2^k}, \frac{b}{2^k}\right)}$$

Thus,

$$N\left(2^k f\left(\frac{a+b}{2^{k+1}}\right) + 2^k f\left(\frac{a-b}{2^{k+1}}\right) - 2^k f\left(\frac{a}{2^k}\right), t\right) \geq \frac{\frac{t}{2^k}}{\frac{t}{2^k} + \frac{L^k}{2^k} \psi(a, b)},$$

Since

$$\lim_{k \rightarrow \infty} \frac{\frac{t}{2^k}}{\frac{t}{2^k} + \frac{L^k}{2^k} \psi(a, b)} = 1$$

for all $a, b \in A$, all $t > 0$ and

$$N\left(H\left(\frac{a+b}{2}\right) + H\left(\frac{a-b}{2}\right) - H(a), t\right) = 1 \quad \forall a, b \in A, \quad \forall t > 0.$$

We get for all $a, b \in A$ the equality

$$H\left(\frac{a+b}{2}\right) + H\left(\frac{a-b}{2}\right) - H(a) = 0,$$

that shows, the map H is a Cauchy additive.

If $b = 0$ in (2.1), then for all $a \in A$, $\lambda \in \mathbb{T}_{\frac{1}{m_0}}^1$ and $t > 0$, we have

$$N\left(2^k \bar{\lambda} f\left(\frac{a}{2^{k+1}}\right) + 2^k \bar{\lambda} f\left(\frac{a}{2^{k+1}}\right) - 2^k f\left(\lambda \frac{a}{2^k}\right), 2^k t\right) \geq \frac{t}{t + \psi\left(\frac{a}{2^k}, 0\right)},$$

Thus,

$$N\left(2^k \bar{\lambda} f\left(\frac{a}{2^{k+1}}\right) + 2^k \bar{\lambda} f\left(\frac{a}{2^{k+1}}\right) - 2^k f\left(\lambda \frac{a}{2^k}\right), t\right) \geq \frac{\frac{t}{2^k}}{\frac{t}{2^k} + \frac{L^k}{2^k} \psi(a, 0)},$$

Since

$$\lim_{k \rightarrow \infty} \frac{\frac{t}{2^k}}{\frac{t}{2^k} + \frac{L^k}{2^k} \psi(a, 0)} = 1$$

for all $a \in A$, $t > 0$, then

$$N\left(2\bar{\lambda}H\left(\frac{a}{2}\right) - H(\lambda a), t\right) = 1 \quad \forall a \in A, \quad \forall \lambda \in \mathbb{T}_{\frac{1}{m_0}}^1, \quad \forall t > 0$$

It follows by last equation and additivity of H that $H(\lambda a) = \bar{\lambda}H(a)$, for all $a \in A$ and all $\lambda \in \mathbb{T}_{\frac{1}{m_0}}^1$.

Now, we show that H is conjugate linear. We have to show that $H(\alpha a) = \bar{\alpha}H(a)$ for all $\alpha \in \mathbb{C}$, $a \in A$. To this end, let $\alpha \in \mathbb{C}$. If α belongs to \mathbb{T}^1 , then there exists $\theta \in [0, 2\pi]$ such that $\alpha = e^{i\theta}$. We set $\alpha_1 = e^{\frac{i\theta}{m_0}}$, thus α_1 belongs to $\mathbb{T}_{\frac{1}{m_0}}^1$ and

$$H(\alpha a) = H(\alpha_1^{m_0} a) = \bar{\alpha}_1^{m_0} H(a) = \bar{\alpha}H(a)$$

If α belong to $n\mathbb{T}^1 = \{nz; z \in \mathbb{T}^1\}$ for some $n \in \mathbb{N}$, then by additivity of H , $H(\alpha a) = \bar{\alpha}H(a)$ for all $a \in A$.

Let $t \in (0, \infty)$ then by Archimedes property of \mathbb{C} , there exists a positive real number n such that the point $(t, 0)$ lies in the interior of circle with centre at origin and radius n . Putting $t_1 := t + \sqrt{n^2 - t^2}i$, $t_2 := t - \sqrt{n^2 - t^2}i$. Then we have $t = \frac{t_1 + t_2}{2}$ and $t_1, t_2 \in n\mathbb{T}^1$. It follows that

$$H(ta) = H\left(\frac{t_1 + t_2}{2}a\right) = \frac{\bar{t}_1}{2}H(a) + \frac{\bar{t}_2}{2}H(a) = \bar{t}H(a) = tH(a) \quad \forall a \in A$$

On the other hand, there exists $\theta \in [0, 2\pi]$ such that $\alpha = |\alpha|e^{i\theta}$. It follows that

$$H(\alpha a) = H(|\alpha|e^{i\theta}a) = |\alpha|e^{-i\theta}H(a) = \bar{\alpha}H(a) \quad \forall a \in A$$

Hence $H : A \rightarrow A$ is conjugate \mathbb{C} -linear.

By (2.2),

$$N\left(4^k f\left(\frac{ab}{4^k}\right) - 2^k f\left(\frac{b}{2^k}\right) \cdot 2^k f\left(\frac{a}{2^k}\right), 4^k t\right) \geq \frac{t}{t + \psi\left(\frac{a}{2^k}, \frac{b}{2^k}\right)} \quad \forall a, b \in A, \quad \forall t > 0.$$

Since

$$\lim_{k \rightarrow \infty} \frac{\frac{t}{4^k}}{\frac{t}{4^k} + \frac{L^k}{2^k} \psi(a, b)} = 1$$

for all $a, b \in A$ and all $t > 0$, therefore

$$N(H(ab) - H(b)H(a), t) = 1 \quad \forall a, b \in A, \quad \forall t > 0$$

Thus, we get for all $a, b \in A$ the equality

$$H(ab) = H(b)H(a)$$

On the other hand by (2.3)

$$H(H(a)) = N - \lim_{k \rightarrow \infty} 2^k f(2^{-k}(N - \lim_{k \rightarrow \infty} 2^k f(2^{-k}a))) = a$$

for all a in A . Hence $H : A \rightarrow A$ is an involution satisfying (2.4).

In addition, we must prove the uniqueness of H . In fact, assume the existence of another such involution H' satisfies (2.4); hence, $H'\left(\frac{a}{2^k}\right) = \frac{1}{2^k}H'(a)$, according to (2.4),

$$\begin{aligned} N\left(2^k f\left(\frac{a}{2^k}\right) - 2^k H'\left(\frac{a}{2^k}\right), t\right) &= N\left(f\left(\frac{a}{2^k}\right) - H'\left(\frac{a}{2^k}\right), \frac{t}{2^k}\right) \\ &\geq \frac{(1-L)\frac{t}{2^k}}{(1-L)\frac{t}{2^k} + \psi\left(\frac{a}{2^k}, 0\right)} \end{aligned}$$

for all $a \in A$ and $t > 0$. Thus

$$N\left(2^k f\left(\frac{a}{2^k}\right) - 2^k H'\left(\frac{a}{2^k}\right), t\right) \geq \frac{(1-L)\frac{t}{2^k}}{(1-L)\frac{t}{2^k} + \frac{L^k}{2^k} \psi(a, 0)} \quad \forall a \in A, \quad \forall t > 0$$

Since

$$\lim_{k \rightarrow \infty} \frac{(1-L)\frac{t}{2^k}}{(1-L)\frac{t}{2^k} + \frac{L^k}{2^k} \psi(a, 0)} = 1$$

for all $a \in A$, all $t > 0$, then

$$N(H(a) - H'(a), t) = 1 \quad \forall a \in A, \quad \forall t > 0$$

Therefore, $H(a) = H'(a)$ for all $a \in A$.

Now, suppose H satisfies (2.5), then we have

$$N\left(\left[N\left(2^k f\left(\frac{a}{2^k}\right), 2^k t\right) - N(a, 2^k t)\right] a, 2^k t\right) \geq \frac{t}{t + \psi\left(\frac{a}{2^k}, 0\right)} \quad \forall a \in A, \quad \forall t > 0$$

Thus

$$N\left(\left[N\left(2^k f\left(\frac{a}{2^k}\right)t\right) - N(a, t)\right]a, t\right) \geq \frac{\frac{t}{2^k}}{\frac{t}{2^k} + \frac{L^k}{2^k}\psi(a, 0)} \quad \forall a \in A, \quad \forall t > 0$$

Since

$$\lim_{k \rightarrow \infty} \frac{\frac{t}{2^k}}{\frac{t}{2^k} + \frac{L^k}{2^k}\psi(a, 0)} = 1$$

for all $a \in A$ and all $t > 0$, therefore

$$\begin{aligned} N([N(H(a), t) - N(a, t)]a, t) &= 1 \quad \forall a \in A, \quad t > 0 \\ \implies [N(H(a), t) - N(a, t)]a &= 0 \quad \forall a \in A, \quad t > 0 \\ \implies N(H(a), t) - N(a, t) &= 0 \text{ (or } N(H(a), t) = N(a, t)), \quad \forall a \in A, \quad t > 0 \end{aligned}$$

Therefore, (A, N) is a fuzzy Banach *-algebra.

Finally, we assume that H satisfies (2.6). Then we have

$$N\left(\left[N\left(2^k f\left(\frac{a}{2^k}\right)a, 2^{2k}st\right) - N\left(2^k f\left(\frac{a}{2^k}\right), 2^k s\right)N(a, 2^k t)\right]a, 2^k t\right) \geq \frac{t}{t + \psi\left(\frac{a}{2^k}, 0\right)},$$

for all $a \in A$ and $t, s > 0$. Thus

$$N\left(\left[N\left(2^k f\left(\frac{a}{2^k}\right)x, st\right) - N\left(2^k f\left(\frac{a}{2^k}\right), s\right)N(a, t)\right]a, t\right) \geq \frac{\frac{t}{2^k}}{\frac{t}{2^k} + \frac{L^k}{2^k}\psi\left(\frac{a}{2^k}, 0\right)},$$

for all $a \in A$ and $s, t > 0$. Again similar to the above can be concluded

$$\begin{aligned} N([N(H(a)a, st) - N(H(a), s)N(a, t)]a, t) &= 1 \quad \forall a \in A, \quad t > 0 \\ \implies [N(H(a)a, st) - N(H(a), s)N(a, t)]a &= 0 \quad \forall a \in A, \quad t > 0 \\ \implies N(H(a)a, st) - N(H(a), s)N(a, t) &= 0 \text{ (or } N(H(a)a, st) = N(H(a), s)N(a, t)). \end{aligned}$$

Then A is a C^* -algebra with involution $a^* = H(a)$, for all $a \in A$.

Theorem 2.2. *Let $\psi : A^2 \rightarrow [0, \infty)$ be a function such that there exists an $L < 1$ with $\psi(a, b) \leq 2L\psi\left(\frac{a}{2}, \frac{b}{2}\right)$ for all $a, b \in A$. In addition, suppose that $f : A \rightarrow A$ be a mapping satisfying*

$$N(D_{\lambda\gamma}f(a, b), t) \geq \frac{t}{t + \psi(a, b)}, \quad (2.8)$$

$$N(f(ab) - f(b)f(a)) \geq \frac{t}{t + \psi(a, b)}, \quad (2.9)$$

$$N - \lim_{k \rightarrow \infty} 2^{-k} f(2^k(N - \lim_{k \rightarrow \infty} 2^{-k} f(2^k a))) = a, \quad (2.10)$$

for all $a, b \in A$, all $t > 0$ and all $\lambda, \gamma \in \mathbb{T}_{m_0}^1$. Then there exists a unique involution $H : A \rightarrow A$ such that

$$H(a) := N - \lim_{k \rightarrow \infty} \frac{1}{2^k} f(2^k a)$$

and

$$N(f(a) - H(a), t) \geq \frac{(1-L)t}{(1-L)t + L\psi(a, 0)} \quad \forall a \in A \quad \forall t > 0. \quad (2.11)$$

Also, if

$$N([N(f(a), t) - N(a, t)]a, t) \geq \frac{t}{t + \psi(a, 0)}. \quad \forall a \in A, \quad \forall t > 0, \quad (2.12)$$

then (A, N) is a fuzzy Banach *-algebra.

Moreover, if

$$N([N(f(a)a, st) - N(f(a), s)N(a, t)]a, t) \geq \frac{t}{t + \psi(a, 0)} \quad \forall a \in A, \quad \forall s, t > 0, \quad (2.13)$$

then (A, N) is a fuzzy C*-algebra with involution $X^* = H(a)$ for all $a \in A$.

Let (S, d) be the complete generalized metric space defined in the proof of Theorem 2.1.

Consider the linear mapping $J : S \rightarrow S$ by

$$Jg(a) := \frac{1}{2}g(2a) \quad \forall a \in A$$

It follows from (2.8) that

$$N\left(f(a) - \frac{1}{2}f(2a), \frac{1}{2}t\right) \geq \frac{t}{t + \psi(2a, 0)} \geq \frac{t}{t + 2L\psi(a, 0)} \quad \forall a \in A \quad t > 0,$$

therefore

$$N\left(f(a) - \frac{1}{2}f(2a), Lt\right) \geq \frac{2Lt}{2Lt + 2L\psi(a, 0)} = \frac{t}{t + \psi(a, 0)} \quad \forall a \in A \quad t > 0.$$

So $d(f, Jf) \leq L$ and thus

$$d(f, H) \leq \frac{L}{1 - L},$$

which implies that the inequality (2.11) holds.

The rest of the proof is similar to the proof of Theorem 2.1.

We prove the following Hyers-Ulam-Rassias stability problem for involutions on Banach algebras. □

Corollary 2.1. *Let $p \in (0, 1)$ and $\theta \in [0, \infty)$ be real numbers. Suppose that $f : A \rightarrow A$ with $f(1) = 1$, satisfies satisfying*

$$N(D_{\lambda\gamma}f(a, b), t) \geq \frac{t}{t + \theta(\|a\|^p + \|b\|^p)},$$

$$N(f(ab) - f(b)f(a)) \geq \frac{t}{t + \theta(\|a\|^p + \|b\|^p)},$$

$$N - \lim_{k \rightarrow \infty} 2^{-k} f(2^k(N - \lim_{k \rightarrow \infty} 2^{-k} f(2^k a))) = a,$$

for all $a, b \in A$, all $t > 0$ and all $\lambda, \gamma \in \mathbb{T}_{\frac{1}{m_0}}^1$. Then there exists a unique involution $H : A \rightarrow A$ such that

$$H(a) := N - \lim_{k \rightarrow \infty} \frac{1}{2^k} f(2^k a)$$

and

$$N(f(a) - H(a), t) \geq \frac{(1 - 2^{p-1})t}{(1 - 2^{p-1})t + 2^{p-1}\theta\|a\|^p} \quad \forall a \in A \quad \forall t > 0.$$

Also, if

$$N([N(f(a), t) - N(a, t)]a, t) \geq \frac{t}{t + \theta\|a\|^p}. \quad \forall a \in A, \quad \forall t > 0,$$

then (A, N) is a fuzzy Banach $*$ -algebra.

Moreover, if

$$N([N(f(a)a, st) - N(f(a), s)N(a, t)]a, t) \geq \frac{t}{t + \theta\|a\|^p} \quad \forall a \in A, \quad \forall s, t > 0,$$

then (A, N) is a fuzzy C^* -algebra with involution $X^* = H(a)$ for all $a \in A$.

Proof. It follows of Theorem 2.2 by putting $\psi(a, b) = \theta(\|a\|^p + \|b\|^p)$ for all $a, b \in A$ and $L = 2^{p-1}$. \square

Corollary 2.2. Let $p \in (0, 1)$ and $\theta \in [0, \infty)$ be real numbers. Suppose that $f : A \rightarrow A$ satisfies satisfying

$$\begin{aligned} N(D_{\lambda\gamma}f(a, b), t) &\geq \frac{t}{t + \theta(\|a\|^p\|b\|^p)}, \\ N(f(ab) - f(b)f(a)) &\geq \frac{t}{t + \theta(\|a\|^p\|b\|^p)}, \\ N - \lim_{k \rightarrow \infty} 2^{-k} f(2^k(N - \lim_{k \rightarrow \infty} 2^{-k} f(2^k a))) &= a, \end{aligned}$$

for all $a, b \in A$, all $t > 0$ and all $\lambda, \gamma \in \mathbb{T}_{\frac{1}{m_0}}^1$. Then f is an involution on A .

Moreover, if

$$N([N(f(a)a, st) - N(f(a), s)N(a, t)]a, t) \geq \frac{t}{t + \theta\|a\|^{2p}} \quad \forall a \in A, \quad \forall s, t > 0,$$

Then A is a C^* -algebra with involution f .

Proof. We put $\psi(a, b) = \theta(\|a\|^p\|b\|^p)$ for all $a, b \in A$ and $L = 2^{2p-1}$ in Theorem 2.2, and then, the result is obtained. \square

Acknowledgements. This work was supported in part by the Basque Government through project IT1207 -19 and by the MCIU/MINECO through grant RT2018-094336-B-100 (MCIU/AEI/FEDER, UE).

REFERENCES

- [1] N.K. Agbeko, *Stability of maximum preserving functional equation on Banach lattice*, Miskols Mathematical Notes, **13**(2012), 187-196.
- [2] T. Bag, S.K. Samanta, *Finite dimensional fuzzy normed linear spaces*, Journal of Fuzzy Mathematics, **11**(2003), 687-705.
- [3] L. Cadariu, V. Radu, *Fixed points and the stability of Jensen's functional equation*, J. Inequal. Pure Appl. Math., **4**(2003), Art. ID 4.
- [4] S.C. Cheng, J.N. Mordeson, *Fuzzy linear operators and fuzzy normed linear spaces*, Bulletin of the Calcutta Mathematical Society, **86**(1994), 429-436.
- [5] J. Diaz, B. Margolis, *A fixed point theorem of the alternative for contractions on a generalized complete metric space*, Bull. Amer. Math. Soc, **74**(1968), 305-309.

- [6] C. Felbin, *Finite dimensional fuzzy normed linear space*, Fuzzy Sets and Systems, **48**(1992), 239-248.
- [7] M.E. Gordji, *Nearly involutions on Banach algebras: A fixed point approach*, Fixed Point Theory, **14**(2013), no. 1, 117-124.
- [8] H.D. Hyers, *On the stability of the linear functional equation*, Proceedings of the National Academy of Sciences of the United States of America, **27**(1941), 222-224.
- [9] S.M. Jung, *Hyers-Ulam-Rassias stability of Jensen's equation and its application*, Proceedings of the American Mathematical Society, **126**(1998), 3137-3143.
- [10] A.K. Katsaras, *Fuzzy topological vector spaces 2*, Fuzzy Sets and System, **12**(1984), 143-154.
- [11] I. Kramosil, J. Michalek, *Fuzzy metric and statistical metric spaces*, Kybernetika, **11**(1975), 326-334.
- [12] D. Mihet, V. Radu, *On the stability of the additive Cauchy functional equation in random normed spaces*, J. Math. Anal. Appl., **343**(2008), 567-572.
- [13] A.K. Mirmostafae, M. Mirzavaziri, M.S. Moslehian, *Fuzzy stability of the jensen functional equation*, Fuzzy Sets and Systems, **159**(2008), 730-738.
- [14] A.K. Mirmostafae, M.S. Moslehian, *Fuzzy versions of Hyers-Ulam-Rassias theorem*, Fuzzy Sets and Systems, **159**(2008), 720-729.
- [15] S.M.S. Modarres Mosadegh, E. Movahednia, *Stability of preserving lattice cubic functional equation in Menger probabilistic normed Riesz spaces*, Journal of Fixed Point Theory and Applications, **20**(2018), 34-43.
- [16] E. Movahednia, Y. Cho, C. Park, S. Paokanta, *On approximate solution of lattice functional equations in Banach f -algebras*, AIMS Mathematics, **5**(2020), 5458-5469. doi: 10.3934/math.2020350.
- [17] E. Movahednia, M. Mursaleen, *Stability of a generalized quadratic functional equation in intuitionistic fuzzy 2-normed space*, Filomat, **30**(2016), 449-457.
- [18] C. Park, M. Eshaghi Gorgji, R. Saadati, *Random homomorphisms and random derivations in random normed algebras via fixed point method*, J. Inequal. Appl., **13**(2012), 1-4.
- [19] T.M. Rassias, *On the stability of the linear mapping in Banach spaces*, Proceedings of the American Mathematical Society, **72**(1978), 297-300.
- [20] S.M. Ulam, *Problems in Modern Mathematics*, Courier Corporation, 2004.
- [21] N. Salehi, S.M.S. Modarres, *A fixed point method for stability of involutions on multi-Banach algebra*, Journal of Fixed Point Theory and Applications, **22** (2020).
- [22] J.Z. Xiao, X.H. Zhu, *Fuzzy normed space of operators and its completeness*, Fuzzy Sets and Systems, **133**(2003), 389-399.

Received: March 8, 2021; Accepted: October 21, 2021.

